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UNIVERSITY OF NORTH BENGAL 

B.Sc. General Part-II Examination, 2021 
MATHEMATICS 

PAPER-IV  
Time Allotted: 2 Hours Full Marks: 50 

ASSIGNMENT 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

 GROUP-A / িবভাগ-ক 

 Answer all questions 
সবgিল  pেűর উtর দাও 

10×2 = 20

1.  (a) Evaluate: ∫
0 sin1

sin dx
x

xx  

∫
0 sin1

sin dx
x

xx  মান িনণর্য় কর । 
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(b) Let ∫
1
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1 )2(,tan ndxxxI n
n . Prove that nInIn nn

1
2)1()1( 2 . 
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0

1 )2(,tan ndxxxI n
n  pমাণ কর nInIn nn

1
2)1()1( 2 । 
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2.  (a) Evaluate:  /  মান িনণর্য় করঃ 
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(b) Which of the following integrals converge? 
িনmিলিখত সমাকলgিলর মেধয্ েকানিট অিভসারী (Converge) হেব ? 

(i) ∫
1

2
dxe x  (ii) ∫

1
2

2sin dx
x

x  
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 GROUP-B / িবভাগ-খ 

 Answer all questions 
সবgিল pেűর উtর দাও 

10×1 = 10

3.  (a) Solve:  /  সমাধান করঃ 
 0)1()1( dyxxydxyxy  
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(b) Find the orthogonal trajectories of the family of coaxial circles 
0222 cgxyx , where g is a parameter and c a constant. 

একই অkিবিশŶ বৃtেগাŸীর 0222 cgxyx  Orthogonal trajectory gিল িনণর্য় কর, 
েযখােন g হল pাচল (parameter) এবং c একিট rবক। 
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 GROUP-C / িবভাগ-গ 

 Answer all questions 
সবgিল pেűর উtর দাও 

10×2 = 20

4.  (a) The circle 122 yx  is divided into three parts by the hyperbola 4
12 22 yx . 

Determine the area of these three parts. 

4
12 22 yx  এই অিধবৃtিট dারা 122 yx  বৃtিট িতনিট অংেশ িবভk। এই উk িতনিট 

অংেশর েktফল িনণর্য় কর। 

5

(b) ∫∫
R

dxdyyx 22 , where R is the triangle bounded by xyy ,0  and 1x . 

মান িনণর্য় করঃ ∫∫
R

dxdyyx 22 ,  েযখােন R একিট িtɛজাকার অĀল যাহা xyy ,0  

এবং 1x dারা আবd। 
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5.  (a) Solve the differential equation 222 )1())(( pypxypx  by reducing it to 
Clairaut’s form and find the singular solution if it exists. 

Clairaut-এর rেপ rপাnিরত কের 222 )1())(( pypxypx  অবকল সমীকরণিট 
সমাধান কর এবং Singular solution িট িনণর্য় কর (যিদ Solution িট েথেক থােক)। 

5

(b) Solve:  /  সমাধান করঃ 
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